v CHM 152/54 Quiz#2 25Pts Spring 05 Name: }’< @/4/

Work must be shown to receive credit.

1. (4 Pts) The reaction A + 2B + C — products was found to have the rate law, rate = k[A]2 [B]. While
holding the concentration of A constant, the concentration of B was increased from x to 3x and the
concentration of C was increased from x to 2x. Predict by what factor the rate of reaction will increase.

(i.e. 2 times as fast 3 times as fast, etc) et
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2. For the hypothetical reaction A + 3B — 2C. 4 | SJ

a.(2 Pts) Write a general rate equatlon < \ 0 flen
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b. ( 3 Pts) Write rate expressions in terms of [A], [B], and [C] and then show ho ’ﬁ:y can be set
equal to one another.
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3. a. (2 Pts) What are the units for a first order rate constant? Mb - W) /k it b = T r
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b. (2 Pts) What are the units for a second order rate constant? rehs k Dﬂ /k lew s = M ¢ it

4. (8 Pts) Nitric oxide reacts with chlorine to form nitrosyl chloride, NOCI. Use the following data to
determine the rate equation and the rate constant (with proper units) for the reaction.

NO + 1/2Cl, — NOCI . i Z—N Oj x[ o) J%

Expt. # [NO] [Cl;] Initial Rate
1 0.22 0.065 0.96 M/min
2 0.66 0.065 8.6 M/min

0.22 0.032 .
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